To Solve by Factoring

Solving by factoring relies on the zero-factor property: if 
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 represent two numbers or expressions and if 
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  For instance, if   
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      Solving: 
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(1) Set the equation equal to 0. (Standard Form: 
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 ensure that all fractions are cleared.)  Place the exponents in descending order, from largest to smallest.

(2) Factor the left side of the equation.

(3) Set each expression equal to 0.

(4) Solve for the variables to obtain solutions.   Do not stop at factoring; the goal is to obtain solutions for your variables.
To Solve by The Square Root Method

(1) Put the equation in the form  
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where  
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   represents an algebraic expression and     
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  represents ( for now) a non-negative number.

  (2)         If         
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To Solve by Completing The  Square   
(1)  Ensure the coefficient of the squared term is a 1.  
 .  
(2)   Ensure all the variables  are on the left  side of the equal sign and that all numbers are on the right side of the equal sign. 
(3)   Take half of the coefficient of the linear term, then square this number,    use parenthesis, as needed.

(4) Add this number to both sides of the equal sign.
(5)  Factor the left side of the equation as a perfect square trinomial,  and simplify the right side of the equation.
(6)  Solve using  the square root method 
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  (Simplify your answers.)

How to Solve using The Quadratic  Formula

(1) Set the equation equal to 0. (Standard Form: 
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 ensure that all fractions are cleared.)  Place the exponents in descending order, from largest to smallest.

(2) Identify a,b, and c  by matching terms with the generic 
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(3) Replace the variables a,b, and c by their specified values in the quadratic formula: 
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(4) Simplify the resulting expressions to obtain solutions for your variables.
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